Bkt R (BCKith )

No.31 RUBHHERERECZEE (A1)

HKERH £ gy |PoatA2E HckoAnA ek 19A] AioFoH2 B
BKEEZ — | (g E) 9:20 9:26 9:15 10:35
KB °C =18 16.5 20.8 24.7 23.9
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁf/ﬁ?’ﬁ “BU | oot <0.001
e me/L 0.6 0.10
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.009
oHOnOpERE mg/L|  0.03 0.004
sJaEsoor4y  |mg/L 0.1 0.004
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.021
k)OO OEFEE mg/L|  0.03 0.006
JOETSH/O0A8 |mg/L 0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.013
HTINS=DLRUED | il o2 0.009
A=x?i
HEVZDIEEY mg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.021
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 12 12
AREZREY mg/L 500 82
DIARIY ng/L 10 1 <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.9 0.9 08
pHIE — | 5.8~8.6 7.1 7.1 7.0
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
ooa7tb=kr)JL |mg/L|  0.01 0.001
k05— mg/L|  0.02 0.002
& TR BIER mg/L| 0.1 E 0.5 0.5 0.5 0.6
e8| 5% Bt o R mg/L 20 9
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 1.6
REXEHE @/m| 2000 1
%7)1/73'41?2 mg/L — 36
o ERmERE 1S/em _ 133 132 133
1&jj)b9@l\’f#> mg/L — 16
LNRBRIEE260) | — — 0.011 0.011 0.009




Bkt R (BCKith )

No.32 ExEmEt2—(ME2)

HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — (%ﬁ%) 9:00 9:58 9:52
KB °C =18 15.1 16.4 205
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.010
oHOnOpERE mg/L|  0.03 0.004
cJoE/OO0A2y  |[mg/L 0.1 0.004
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.023
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.009
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
RTINE=GLRUZD | | g2 0.008
=g
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.005
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 12 12
AREZREY mg/L 500 79
DIARIY ng/L 10 1 <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%’)ﬁ%m% me/L 3 1.0 0.9 0.8
pHIE — | 5.8~8.6 7.1 7.1 7.0
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.5 0.5
e8| 5% Bt o R mg/L 20 8
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifiuft B
BRIEGUTITHER p:|§@530l~ i 1.6
i)
REXEHE @/m| 2000 1
z 7)1/73'4?2 mg/L — 37
o ERmERE 1S/em _ 134 132 135
m DL LAFY mg/L — 17
LNRBRIEE260) | — — 0.010 0.011 0.012




Bk A K ) No33 —BKER(=8)
HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 9:25 15:25 9:35
KB °C =18 173 213 221
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.06
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.019
DHOOOEER meg/L|  0.03 0.003
cJoE/OO0A2y  |[mg/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.031
k)OO OEFEE mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.009

KooERILL meg/L|  0.09 <0.001

BIRILLTILTER mg/L|  0.08 <0.005

HERRVEZDIEEY [me/L 1 <0.004

4@17':’%“%—'7""&”%0) me/l| 02 0.048
HEVZDIEEY meg/L 0.3 0.01
BHRUVZDIEEY mg/L 1 <0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 16 13
AREZREY me/L 500 140
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁgﬁ%@%a()%@%mf me/L 3 0.7 1.1 10
pHIE — | 5.8~8.6 7.3 7.3 7.3
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 0.1 0.2
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02

& TR BIER mg/L| 0.1 E 0.6 0.4 0.4

e8| 5% Bt o R mg/L 20 6

Bl|E =52 E(TON) — 3 4 A A

e s . SIEELUELE
BEEGUTITRE)| — %@;oc i -1.0
REXEHE @/m| 2000 0

%7)1/73'41?2 mg/L — 64

o ERmERE 4S/om _ 168 213 174

1& jj)l/:/rbl-\’fj-y mg/L — 29
LNRBRIEE260) | — — 0.011 0.016 0.017




FRoKih R (Bdkith4) A HEF(FE/K)
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — (%ﬁ%) 9:15 10:05 9:27
KB °C =18 17.8 20.0 24.9
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
iul=l JIWWN mg/L 0.06 0.019
DHOOOEER meg/L|  0.03 0.009
cJoE/OO0A2y  |[mg/L 0.1 0.003
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.032
ko 0OOEFES mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.010

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
ETI:’%"%_ VLRUED mg/L 0.2 0.037
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 17 16 16
AREZREY mg/L 500 160
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 13 1.1 0.8
pHIE — | 5.8~8.6 75 75 7.4
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.6 0.6
e8| 5% Bt o R mg/L 20 7
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -0.7
i)
REXEHE @/m| 2000 1
%7)1/73'”2_ mg/L — 79
o ERmERE 4S/om _ 255 256 220
m DL LAFY mg/L — 29
LNRBRIEE260) | — — 0.016 0.015 0.012




Bkt R (BCKith )

No.35 B/ AMERtEV5—(HIE)

HKERH £ gy |PoaA2E HckoRnA ek 19A] AHokoA2 B
KB — | Bi= E) 10:55 11:06 11:05 9:12
KB °C =18 15.8 234 258 252
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.09
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.017
CHOOER mg/L|  0.03 0.004
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.029
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.009
KJOEHRILL mg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
FHEIRBRUVZDIEESY [me/L 1 0.005
HTINS=DLRUED | il o2 0.051
=g
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 17 18 19
R TR B Y mg/L 500 168
DIARIY ng/L 10 < <1 <1
2-AFIILAYRILAF—IL [ng/L 10 {1 4 <
ﬁfﬁ?&%ﬁ%mi me/L 3 1.1 10 0.9
pHIE — | 5.8~8.6 7.4 7.4 7.4
Bk — |BEThHLIE EEihL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.4 0.5 0.5
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 0.6
REXEHE @/m| 2000 0
%7)1/7]'”?'2 mg/L — 73
o ERmERE 1S/em _ 251 252 269
m DL LAFY mg/L — 29
LNRBRIEE260) | — — 0.016 0.014 0.009




Bkt R (BCKith )

No.36 FIFHRtL2—(F1E)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 8:56 9:05 9:02
KB °C =18 17.6 211 225
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.07
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.018
DHOOOEER mg/L|  0.03 0.011
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.028
k)OO OEFEE mg/L|  0.03 0.010
JOESH/O00A4 |me/L|  0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
HERRVEZDIEEY [me/L 1 <0.004
HTINS=DLRUED | il o2 0.051
A=x?i
HEUVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 17 17 17
AREZREY me/L 500 156
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁgﬁ%@%a()%@%mf me/L 3 1.1 1.1 10
pHIE — | 5.8~8.6 7.6 7.3 7.4
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.6 0.6
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
(== 1PN DN i = voers _
BEMEGUT)TIER %‘Efo'“ i 0.9
REXEHE @/m| 2000 3
%7)1/73'412_ mg/L — 73
o ERmERE 1S/em _ 266 244 232
1& jj)l/:/rbl-\’fj-y mg/L — 27
LNRBRIEE260) | — — 0.013 0.013 0.014




FRoKih R (Bdkith4) No.37 SEIUAER(E%E
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — (%ﬁ%) 9:40 9:30 9:52
KB °C =18 15.6 17.9 226
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
iul=l JIWWN mg/L 0.06 0.023
DHOOOEER meg/L|  0.03 0.008
cJoE/OO0A2y  |[mg/L 0.1 0.003
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.037
k)OO OEFEE mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.011

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
ETI:’%"%_ VLRUED mg/L 0.2 0.031
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 16 17 17
AREZREY mg/L 500 154
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁgﬁ%@%&%ﬁﬁmf me/L 3 12 1.1 0.8
pHIE — | 5.8~8.6 75 75 7.4
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.3 0.4 0.4
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifiuft ~
BEMEGU7ITHER) Lm0l 0.7
i)
REXEHE @/m| 2000 1
%7)1/73'41?2 mg/L — 76
o ERmERE 4S/om _ 249 262 227
m DL LAFY mg/L — 28
LNRBRIEE260) | — — 0.015 0.014 0.011




Bkt R (BCKith )

No.38 FEMRtU2—(HIF)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 9:44 10:02 9:58
KB °C =18 19.6 20.7 23.2
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’f’r “BU | oot <0.001
e me/L 0.6 0.07
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.012
DHOOOEER meg/L|  0.03 0.009
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.020
k)OO OEFEE mg/L|  0.03 0.008
JOESH/O00A4 |me/L|  0.03 0.006
KJOEHRILL mg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
HTIS=DLRUED | | 02 0.052
=g
HEUVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 17 17 17
AREZREY meg/L 500 156
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁff‘;%g%ﬁ*%”_‘i me/L 3 11 1.1 0.9
pHIE — | 5.8~8.6 7.6 7.4 7.4
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
ooa7tb=kr)JL |mg/L|  0.01 0.002
k05— mg/L|  0.02 0.004
& TR BIER mg/L| 0.1LLE 0.5 0.8 0.8
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e N . —ﬁifil}li‘t
BEEGUTITRE)| — %\lg@;m: i -0.8
REXEHE @/m| 2000 1
%7)1/73'”-5 mg/L — 73
o ERmERE 4S/om — 266 247 229
LNRBRIEE260) | — — 0.013 0.014 0.014




Bkt R (BCKith )

No.39 HHELAE(EY E)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 9:15 9:10 9:02
KB °C =18 18.9 22.4 22.9
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.07
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.012
DHOOOEER meg/L|  0.03 <0.002
cJoE/OO0A2y  |[mg/L 0.1 0.005
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.028
k)OO OEFEE mg/L|  0.03 0.008
JOESH/O00A4 |me/L|  0.03 0.010
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.005
HTINS=DLRUED | il o2 0.009
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.008
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 12 12 12
AREZREY meg/L 500 88
DIARIY ng/L 10 1 <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%’)ﬁ%m% me/L 3 0.9 0.9 0.8
pHIE — | 5.8~8.6 7.3 7.4 7.4
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.3 0.3 0.3
e8| 5% Bt o R mg/L 20 3
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifiuft _
BEBEGU TR %‘Efo'“ i 1.2
REXEHE B/m| 2000 12
z 7)1/73'4?2 mg/L — 38
o ERmERE 1S/em _ 135 136 136
1&jj)b9@l\’f#> mg/L — 17
LNRBRIEE260) | — — 0.009 0.011 0.013




FEKih s (BRKith4a) No.40 VDUEHAMEEXF(ER)
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEIKERZ — (%EE) 11:22 11:20 11:20
KB °C =18 18.0 19.9 247
— = 18/ml 100 0 0 1
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.017
DHOOOEER meg/L|  0.03 <0.002
cJoE/OO0A2y  |[mg/L 0.1 0.005
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.032
ko 0OOEFES mg/L|  0.03 0.009
JOESH/O00A4 |me/L|  0.03 0.010

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
Eﬁ’gw_ VLRUED mg/L 0.2 0.017
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 14 15 15
AREZREY mg/L 500 112
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.8 08 2.0
pHIE — | 5.8~8.6 75 7.6 7.6
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 0.5
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.4 0.4 0.3
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -1.0
i)
REXEHE @/m| 2000 3
%7)1/73'41?2 mg/L — 59
o ERmERE 1S/em _ 178 199 183
ﬁﬁmwru»rz“p mg/L — 19
LNRBRIEE260) | — — 0.011 0.013 0.022




